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1)
2)
3)
4)
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10
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2-1

10

10

2-1 10
27
38
|| 10 5
- 10
10 || 11 6
> 1 11 6
> 11 11 7 9
> 1 11 10 12
y
10 11 || 24 ()
11
42
109

2-1



2-1

10 11
— 3
10 35
20 31
19 —
27 38
42
(2)
2-2
10
SPEED'98
25
173 -
11 10
11
AAL1 Az Aj)
B C
13
A 10
A1
Az Az
As Az
B
C 10

COD TOC SS



TS VTS

2-2
10 11
4-t- o
4-n- °
4-n- °
4- o
4-n- °
4-t- o
o
o @] O o
2,4- o
(DEP) o
(DprP) o
-n- (DBP) o o o o
(DPP) o
(DHP) o
-2- (DEHP) ) o o o
(DCHP) o
(BBP) o o o o
( () 0 o
-2- ) o 9]
4-
O o)
1
3 2 o o o
n- o o
(PBBs)d o
o
)
4) o
178 - o o
1) 10
2) 2 3 10 1,3- 2,4-
-1- cis-1,2- trans-1,2- 3 2,4,6- -1-
10 11 3 2,4,6- -1- la- -4a-(1-
) la- -de-(1- ) le- -da-(1- ) le- -de-(1-
)
3) 209 19
4)
(EO) (n) (n=1 4) (n 5 2




2-3 11
A
A2 A3 B C
1|4-t- O
2 o
3 o
4(2,4- o
5 DEP) o
6 -n- DBP) o o
7 -2- DEHP) 0 0 0
8 BBP) o) o)
9 -2 o o
10 o)
11 3 o
(n=1 4)
12 (n 5) o o) o
13]178 - o o) o)
7 13
3 2,4,6- la- -4a-(1'- )
la- -4e-(1' le- -4a-(1'- )
le- -4e-(1'- )
(3)
10 27 11 38 42
10 11

RO




3-1.

10

10

11

11

12

)

(

3-2.

24



3-1

3-1
(M gL) (mg/kg-dry)
4-t- 0.1 0.3 0.15 05
4-n- 0.1 0.3 0.15 05
4-n- 0.1 0.3 0.15 05
4- 0.1 0.3 0.15 05
4-n- 0.1 0.3 0.15 05
4-t- 0.1 0.3 0.15 05
0.1 0.3 0.15 05
A 0.01 0.03 0.15 05
2,4- 0.02 0.06 0.15 05
(DEP) 0.2 0.6 0.3
(DprP) 0.2 0.6 0.3
-n- (DBP) 0.2 0.6 0.3
(DPP) 0.2 0.6 0.3
(DHP) 0.2 0.6 0.3
-2- (DEHP) 0.2 0.6 15
(DCHP) 0.2 0.6 0.3
(BBP) 0.2 0.6 0.3
@) 0.01 0.03
2- 0.01 0.03 0.3
4- 0.01 0.03
0.01 0.03 0.15 05
2 3 0.01 0.03 0.15 05
n- 0.1 0.3
(PBBs) 0.01 0.03
0.01 0.03
(=1 4) 0.2 0.6 0.9 3
(n 5) 0.2 0.6 0.3 1
17B - 0.0002 0.0006 0.015 0.05




3-3.



3-2

3-2

A 17B - 4
30

10
30

n.d.
tr

10




tr

trace

3-5.

11



10 11
(1)
4-1
10
3
4-t-
_n_
2
17B -
11
5
11
3
_n_
2

10

17B -

4-2

12

10 11
25
15
A
2
4-1
11
1
4-t-
A 24-
-2-
9
17B -
2

24



-2- (n=1 4 (n
4-1 10 11
P g/L
10 11 10 11
4-t- 0.1 0.3 nd. 04 nd. 1/8
4-t- 0.1 0.3 nd. nd. 0/8]
4-t- 0.1 0.3 nd. nd. 0/8
4- 0.1 0.3 nd. nd. 0/8
4-n- 0.1 0.3 nd. 04 nd. 1/35]
4-t 01 0.3 0.1 03| nd 46 tr(0.2) 17/35] nd. 74 tr(0.2) 15/41
0.1 0.3 0.1 03] 13 75 6.7 /34| 14 44 4.7 69/69
A 003 0. 001] 003 tr(004) 96 077 32/35] 009 53 053 69/69
24- 004 012 002 006] nd. 090 | tr(0.07) 6/26] tr(0.02) 0.44 007 15/25
DEP) 0.2 0.6 0.2 06 12 89 5.9 26/26| 09 58 26 25/25
D P 0.2 0.6 nd. nd. 0/8]
-n- DBP) 0.2 0.4 0.2 06| nd 11 2.1 32/35] 09 14 3.6 41/41
DPP) 0.2 0.6 nd. nd. 0/8
DHP) 0.2 0.4 nd. nd. 0/8
-2- DEHP) 0.2 0.6 0.2 06| 56 48 17 35/35| 14 68 13 66/68
DCHP) 0.2 0.6 nd. tr(0.3) nd. 0/8
BBP) 0.2 0.6 0.2 0.6 nd. 19 tr(0.2) 5/35] nd. 1.0 nd. 7/41
a 001 003 001] 003 nd 014 | tr(001) 7/26
-2- 002 005] 001] 003 nd 69 043 30/35] nd. 042 007 63/69
4- 001 003 nd. nd. 0/8
002 007l o001] 003|tr(003) 098 019 23/26] 007 088 015 55/55
2 3 001] 003 001] 003 nd 010 | tr(0.01) 3/34] nd. 003 nd. 1/24]5
n- 0.1 0.3 nd. 29 nd. 5/26
PBB 003| 009 nd. nd, 0/8 19
003[ 009 nd. nd. 0/8
(n=1_4) 0.1 0.3 0.2 06| 61 92 2 26/26] 43 270 29 67/67,
(n_5) 0.2 0.6 0.2 06| 95 810 150]  25/25| tr(0.2) 500 81 66/67,
17B - 0.0002] 0.0006] 00002] 00006 0020 0094 | 0041  35/35{00091 0084] 0.040[  69/69
( 17B -
n.d.: tr:
: 2 3 3 2.4.6- -1-
10 11 11
4-2 ( )
b g/L
( 2 ) ( 1 .41 )
0.7 15 1.1 14 44 4.7
A 0.31 0.44 0.38 0.09 5.3 0.53
-2- 11 12 11 1.4 68 13
-2- 0.07 0.09 0.08 nd. 0.42 0.07
(n=1 4) 6.8 9.3 8.1 43 270 29
(n 5) 15 41 28 tr(0.2) 500 81
17B - 0.042 0.061 0.052 0.0091 0.084| 0.040
e ) 24

13




10 11
4-3
10 25
1 6
3
A -2-
-2- 5
17B - 5
11 11
1 8
3
A -2-
-2- 5
1703 -
4-3 10 11
pg/L
10 11 10 11
4-t- 0.1 0.3 nd. nd. 0/10]
4-t- 0.1 0.3} nd. nd. 0/10]
4-1- 0.1 0.3 nd. nd. 0/10)
4- 0.1 0.3 nd. nd. 0/10)
4-n- 0.1 0.3 nd. nd. 0/48]
4-t 0.4, 0.3 0.4, 0.3] nd. tr(0.2) nd. 0/48] nd. 05 nd. 1/44
0.1 0.3 0.1 0.3 tr(01) 1.0 0.4 36/48] nd. 06 tr(0.1) 18/74
A 001) 003 001] 003] nd. 051 004 30/47] nd. 052 | r(0.02) 31/74)
24- 002| 005 002] 006] nd 010 nd. 5/28] nd. 014 | r(001) 1/28
DEP) 0.2 0.6 0.2 0.6 nd. nd. 0/28] nd. tr(0.3) nd. 0/29
D P 0.2 0.6 nd. nd. 0/10)
-n- DBP) 0.2 0.6 0.2 0.6 nd. tr(0.5) nd. 0/48] nd. 07 nd. 1/44
DPP) 0.2 0.6 nd. nd. 0/10)
DHP) 0.2 0.6 nd. nd. 0/10)
-2- DEHP) 0.2 0.6 0.2 06| nd. 62 0.8 27/48] nd. 22 r(0.3) 19/74)
DCHP) 02 0.6 nd, nd. 0/10
BBP) 0.2 0.6 0.2 0.6 nd. nd. 0/48] nd. nd. 0/44
a 001] 003 001] 003|nd. tr(0.01) nd. 0/28]
-2- 001 003 001] 003] nd 015 | tr(001) 18/48] nd. 020 nd. 8/74
4- 001] 003 nd. tr(0.01) nd. 0/10)
001) 004 001] 003] tr(0.01) 10 0.06 22/28] nd. 037 0.05 41/57,
2 3 001] 003 001] 003 nd. nd. 0/36) nd. nd. 0/28)5
n- 0.1, 0.3 nd. nd. 0/28]
PBB 003 009 nd. nd. 0/8 19
003 _ 009| nd. nd. 0/10)
(n=1_4) 0.1 0.3 0.2 0.6] tr(0.1) 18 13 22/28] nd. 12 0.7, 39/69
(n_5) 0.2 0.6 0.2 06| nd 24 16 22/28] nd. 11 1r(0.3) 25/69
170 - 00002 0.0006] 00002 0.0006] nd. 0.055 0.014 43/471 nd. 0066 | 0.00875 68/72'
( 17B -
n.d.: tr:
10 11 11

14




4-4
50 10
11 4-1 4-3
4-1
17B - 70
90
10
4-4
10 11
4-t- >67% >98% >67% >96%
76% 99% 94% 84% >99% >98%
A 30% >99% 95% 43% 99% >96%
2,4- 50% >98% 60% >95%
DEP) >83% >98% >78% >97%
-n- DBP) >75% >98% >78% >99%
-2- DEHP)| 61% >99% 95% 78% >99% >98%
BBP) >67% >89% >33% >80%
(@) >83% >93% H10
-2- >99% 40% >97%
94% 65% >98% 73%
2 3 >80% >90%
n- >67% 97% H10
(n=1 4) >99% 94% 60% >99% 98%
(n 5) 99% 99% 86%  >99% | >99.5%
178 - >99% 67% >99% 7%
( 7B - )
10 11
n.d.
tr
3 2,4,6- -1-
H11 1

15




' 6.7 OH10 )
0.4 mHL0 )
J4.7 OHUL )
tr((IJ.l) . . . f—_— )
( pgl) 0 2 4 6 8 10
0.77
0.04
0.53
tr(0.02)
( pgl) 0 2 4 6 8 10
[ tr(0.07)
24 n.d.
i [o.o07
n.d.
( pgl) 0 2 4 6 8 10
]5.9
n.d.
2.6
n.d.
( pgl) 0 5 10 15 20
; 2.1
n.a.
-n- 3.6
n.d.
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
( o) 0 5 10 15 20
I
] 17
0.8
2 ] 13
tr(0.3)
( pgl) 0 5 10 15 20
0.43
tr(0.01)
-2- ]o.07
n.d.
( pgl) 0 2 4 6 8 10
0.19
0.06
0.15
0.05
( pgl) 0 2 4 6 8 10
25
1.3
(=1 4) 29
0.7
( pgl) 0 50 100 150 200
I
h ] 150
1.6
(n 5) | 81
tr(0.3)
( po) 0 50 100 150 200
I
]0.043
0.014
178 - 0040
0.0088
( pg) 0 0.02 0.04 0.06 0.08 0.1
nd. tr
( 10 11 )

16



4-2
10
11 4-3(1) 4-3(2)
100
4-5(1) 4-5(2)
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. 7 .
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i y :
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Mg/l

300
250
< 200
150
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(n 9

= |

H 25 75%

4-3(1)

18

35
30
25
20
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15
10

300
250
<200
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100
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400

200
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(
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( )
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/L

pog/L

Mo/l

/L

30

20

10 b

15

1.0

0.5

0.0

29

19

/L

poo/L

poo/L

/L

% 25 75%

4-3(2)

19

40

30

20

10

15

10

05

00

0.09

0.06

0.03

0.00

11

17B - B

HE

H1l

(2)



4-5(1)

10

)
)

N o
| < S| |
S | SN~ ~| ~
—~~| ) ~|
o <
o | © Sloe || T
S | S| SN | N
mwlo|lo|ld|la|lalw]|lo|S
OlF|lo|w|w|N|o]|w|ov|D
< | © N S| o|w©
= R N I = PN ==
AlA]|F[OC|lAd|Ad ]| a ]|
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<
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T
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S— | SN
I
o
[ L
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17p -

16

100

16

4-5(2)

11

)
)
)
)

(
(
(
(

36

26

74
86

57

52

91

73
38
99

90

140
94

74
97

100
80
95

100
100
100
100
100
100
100
100

(n=1 4)
(n 9

173 -

100

20

20

20



4-6
4-4
4-6 11 ( )
mg/kg-dry
0.7 130 6.1 25/25 nd. 41 1.6 22/29 nd. 64 3.3 15/17
A nd. 15 tr(0.28)| 6/25 nd. 063 tr(0.19) | 2/29 nd. 098 tr(0.28)| 3/17
-2- 3.4 440 86 25/25 nd. 230 55 26/29 38 150 110 17/17
-2- nd. 18 n.d. 1/25 nd. 7.3 n.d. 1/29 nd. 31 nd. 2/17
nd._ 030 nd. 0/25 nd. nd. 0/29 nd. 029 nd. 0/6
(n=1 4) nd. 210 28 24/25 nd. 120 10 28/29 nd. 120 12 16/17
(n 5) nd. 74 17 23/25 03 17 2.3 23/29 nd. 29 2.8 14/17
1708 - nd.0.049 |tr(0.019)] 0/25 nd. 012 |tr(0.023)[ 7/29 nd._ 015 |tr(0.032)] 6/17
13 210 38 777 tr(0.17) 210 6.3 17/18 nd. 057 n.d. 1/16
A 022 32 0.92 5/7 nd. 12 tr(0.30) | 6/18 n.d. n.d. 0/16
-2- nd. 200 65 6/7 nd. 170 97 17/18 n.d. n.d. 0/16
-2- nd. 1.0 n.d. 1/7 n.d. tr(0.70) n.d. 1/18 n.d. n.d. 0/16
0/0 nd. tr(0.42) n.d. 0/8 nd. nd. 0/6
(n:l 4) tr(0.9) 21 14 /7 nd. 47 14 17/18 n.d. n.d. 0/14
(n 5) tr(0.4) 13 18 5/7 03 71 9.0 16/18 n.d. n.d. 0/14
178 - tr(0.020) _ 0.064|tr(0.038)] 2/7 nd. 0.062 n.d. 4/18 n.d. n.d. 0/16

21
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4-8

(b /L)
0.3 0/16 0/16 0/8 0/8
A 0.03 9/16 6/16 4/8 1/8
-2- 0.6 4/16 3/16 2/8 1/8
-2- 0.03 2/16 2/16 1/8 0/8
0.03 6/7 5/7 3/4 2/4
(n=1 4) 0.6 3/6 1/6 0/3 1/3
(n 5) 0.6 216 2/6 1/3 0/3
17B - 0.0006 16/16 15/16 7/8 3/8
( (RO
(0 g/lL)
0.3 0/4 0/4 0/4 0/4
A 0.03 2/4 1/4 1/4 1/4
-2- 0.6 0/4 0/4 1/4 0/4
-2- 0.03 0/4 0/4 0/3 0/3
0.03 1/2 0/2 1/2 0/2
(n=1 4) 0.6 0/2 0/2 1/2 0/2
(n 5) 0.6 0/2 0/2 0/2 0/2
178 - 0.0006 3/4 1/4 4/4 0/4

30
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(1)

(1997.10)
SPEED’98(1998.3)
67 -1

(2)
10

)



SPEED’'98

(PCBs)

74

(PBBs)

(HCB)

79

.POPs

(PCP)

90

75

75

71

"72

86

68

POPs

trans-

"2

1.2-

_3-

80

DDT.

71

DDEandDDD

(DDT

)

81

75

81

5,
,POPs

81

"75 ,
-POPs

86

"75

POPs

60

,POPs

82

,POPs

90

(TBTO

90

4-

(a)

2,4-

-

2.4

75

98

3)




(3

-2 25
28
(1) SPEED'98 4-t- 4-n- 4-n-
4- 4-n- 4-t-
SPEED'98 67 19
2 3
-2
H10 H11 SPEED"98
4-t- 1 1
4-t- 2
4-t- 3
4- 4
4-n- 5 4-t 4-n
4-t- 6 1 1
7 2
A 8 3 2
2,4- 9 4 3
DEP) 10 5 4
D P 11 5
-n- DBP) 12 6 6
DPP) 13 7
DHP) 14 8
-2- DEHP) 15 7 9
DCHP) 16 10
BBP) 17 8 11
a 18 12
-2~ 19 9 13
4- 20 14
21 10 15
3 22 11 16 H10 1 5
n- 23 17
PBB 24 18 H10 219
25 19
26
(n=1 4)
(n 5) 27 12 (n 5)
173 - 28 13
3
H10 1.3-
H10 1,3- 2,4- -1- cis-1,2- trans-1,2- 2,4,6-
-1-
H10 2,4,6- -1- la- -4a-(1'- ) la- -4e-(1' ) le- -4a-
(1'- ) le- -4e-(1'- )

(4)

(4)




(5)

(6)

trace

0.01p g/L
24

()

0.1u d/L

tr

51



5 ()
() () 3s 10s
GC/MS “
L
113 5
” (L) 5
13 5 ”
5
500 1L 2mL
0.3p g/L “ ” 0.3x 500
150 L 150p g

(6)



(7)

(A) (B)
() x 100
3
(8)
(9)
-3
0.7 10mg/L
130m/
84L/ (
( )

(7)




